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# o - . AER . - .
z 43 (B 5] iR AEH AIEZA | HEOIKE
Tm 50cm 5cm
18— 6H19H 0.05 0.05 005 | U3k +
2| B INERR 6H23H 0.07 0.07 007 | 4F3IUk +
3 EZNERR 6H248 0.05 0.05 006 | 4J3oUF +
4| FE IR 68178 0.04 0.05 008 | 4Y3ULF +
5| AL /AR 6A218 0.04 0.04 004 | 4FT3OUF +
6| f ik /NERR 6A98 0.04 0,04 004 | 4H3IUK +
1AL BT INERL 64208 0.06 0.06 006 | Y3k +
8| = EFILL/NERR 6H23H 0.06 0.06 006 | Y3k +
9 IRF/IMERR 6H248 0.05 0.06 006 | 4J3oUF +
10[#L & B/ ERR 6H248 0.05 0.05 004 | 4H35IUK x
RN 64198 0.08 0.08 009 | 4F3oUF +
12| RN 6A16H 0.06 0.06 006 | Y35k x
13| f /) 64168 0.06 0.06 0.07 J59Uk +
1 EBRFHER 6H23H 0.05 0.05 005 | Y3k x
2 AL PR 6A238 0.09 0.09 010 | 4F3UF +
i 3| ftE AR 65208 0.08 0.08 008 | YSIUK +
g 4| AL & R 6A168 0.08 0.08 009 | 43oUF +
5| AFRhFR 6H23H 0.06 0.06 006 | Y3k +
6| B LR 68248 0.06 0.06 005| 4U3oUF +
# 1RFNFERTE 68278 0.17 0.18 017 | HttehR | FRI7ILE
= 2 BHILNFEREE 6A27H 007 0.06 006 | Byhrhk t
£ I =NFERFE 6H278 0.08 0.09 0.09 AOdsk ALILLAH
1HRFREE 6A168 0.07 0.06 0.07 EBE x
it 2 KLHEREE 68138 0.09 0.10 0.09 E3)E +
i 3 FREH 68138 0.06 0.06 0.08 BB t
%= 4| RREE 681380 0.09 0.10 0.12 ERE +
B 5| HHUCREE 68138 0.05 0.08 0.08 BE5E +
6 iItERER 68138 0.08 0.08 0.09 B3} +
F 1 << iaiE 64138 0.06 0.06 0.06 o +
8| CELHELA— 6A178 0.06 0.08 0.06 ef 3 B2
1HILREERE 6A138 0.06 0.06 0.06 EBE x
2| EEREE 6H13H 0.08 0.07 0.08 EE +
IEERER 68138 0.13 0.13 0.13 EE AILZ
4\ BIREE 6A138 0.06 0.06 0.06 ERE +
FA 5| MERER 68168 0.07 0.08 0.07 ERE +
iva 6 HEREE 68168 0.07 0.06 0.06 EE +
& 1 REANERER 68168 0.10 0.08 0.08 EBE +
s IH¥ELIARHEREER 68138 0.06 0.05 0.05 BB +
9 T7UUIYHRERE 68138 0.06 0.06 0.07 EBE x
10 DIEHHREE 68168 0.06 0.07 0.07 B3} +
1|BMERER 6A16H 0.06 0.06 0.06 EE Zih
12|[EF2ESVRFHUCRER 6A13H 0.06 0.06 0.05 EE AIZ
1BIREEBKLREE 68138 0.05 0.03 0.06 ERE AIZ
1 DEZYHE-DEZOHREERE 68168 0.13 0.14 0.14 B3 +
2 Uh Y SR 68178 0.08 0.08 0.08 EE EEE
I EEHHE 6A16H 0.07 0.07 0.06 ERE +
4B HHE 5H228 0.08 0.08 0.08 EBE x
5 it B IS4 FHEE 68168 0.06 0.06 0.06 B3} +
6| HI=4hHE 68248 0.08 0.09 0.08 EE *
1 —REEHHE 5A16H 0.07 0.07 0.06 B35 +
8| T—TIILHFHE 68178 0.07 0.07 0.06 B3]z x
9 KL DHFHE 68168 0.07 0.07 0.07 B3} +
10|t B $H#E 68168 0.05 0.06 0.06 EE *
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_ B )
= MEE% % RIEB BIESAT | HhEOIREE
Tm 50cm 5cm

1 EBFEREORAE 38198 0.06 0.05 0.06 g =

QBB TFREOBALAR 3A3A - 0.06 - eF 3 B

3 XKLE25AHE 3A6H - 0.09 = R H(2/14~1)
4| K LEFAELE 3A198 0.13 0.13 0.1 thh *

5 BILAE A E 3A7H = 0.07 = g FARAI7ILE
6| BBRFANHLLIE 3A3H - 0.13 - R avyl—k
1 BB FERALE 3A3H - 0.06 - tha t-E@2/14~1)
B HBFEHELE 3A3H - 0.08 - R T-&

9| fkma{E#k 38128 - 0.16 = g T-E

10| FEA2E 3A198 0.16 0.17 0.15 R o

" EEEESH AR 381280 - 0.05 - tha B

12| BFEMARLE 3A6R - 0.08 - b B

13| EHMAAE 3H128 0.12 = g +
14|MEEFELOBEVE 3A6H - 0.07 - g B

15| BBRFHEILLE 3A38 - 0.10 = R +

16| KBTFHERLAR 3A128 - 0.12 - g +

17| BUEEAR 3H128 = 0.11 = i +

18| L ES A E 3A6R - 0.05 - eF 3 B

19| dLERIFm AR 381280 = 0.06 - tha B
0 AFRHITEDOLE 3A6H - 0.07 - R H(2/14~1)
21 ZHAE 3A128 - 0.09 = R B
22|k HEBA #R 3848 - 0.10 - Rk =1
23| EM1 SLE 3A7RH - 0.20 = ef 3 B
24| EWASNE 3A48 - 0.14 - tha A2B—Oy%y
25t R1S/E 3A6H - 0.07 = eF 3 B

26| FNFEIRXFLNE 3A4R - 0.07 - eF 3 B

21 IBFZEFARELE 3A6R - 0.07 = hh B

28 BRFZEFARLLE 3A6H - 0.08 - tha B

29 RFEFARBELE 3A6H - 0.09 = R B

0| EHLE 3A128 - 0.09 - eF 3 B

31 EHELE 38128 = 0.07 - IBEPR | E(2/14~1)
32| K LEH3ELE 3A12H - 0.06 - R +

33| KLEFSE L E 3H128 = 0.08 - KPR +

34 XLEF6FAE 3128 - 0.10 - LREmHR T-&

35| AHKLEFE7TELE 3812R - 0.07 = PR B

36| ALE A/ X E 3A6H - 0.08 - R +

37 RFELBELE 3A13H = 0.20 - LKEHR T-&

38 | AL BRIFIL A E 3A128 - 0.06 - eF 3 B

39 JLERIRA AN E 38128 = 0.09 = R dLFVTEHE
40 RERERLE 38128 - 0.14 - BEHR | 1vs—ovxy
41\ EBRFOELHLE 3H3H = 0.09 - KPR +
2| EKBFHIILE 3A38 - 0.11 - LREmPR b
B EBFHELR 3A38 = 0.10 = R a>o1—bk
U EBFHRELAR 3A3H8 - 0.11 - th +
45 BILELAE 3A7H = 0.14 - KPR +
46 feF LN E 3128 - 0.09 - IBEPR w
47| MR LEHE LR 38128 = 0.12 - RiEHR +
48| 1R F IR F f&ih 3A7H - 0.20 - HFEPMHE +-&
49 BILFELE 3A7H = 0.16 - BEEERYQO B

50 B LA E 3A78 - 0.16 - REBPR b

51 B ILBEAE 3A7H - 0.17 - BT +

52| AFRHITLALE 3A6H - 0.06 - RBHR =

53| DKLEF1 S AE 3H6H = 0.09 = 3 +

B F IS EA T E




[BEI]u Sv/h
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W em . _ AER lsm »
X4 BEe MEE% 4 BER ; BB | HhEOIKREE
m 50cm 5cm
54 RFILAE 3A128 - 0.13 - R B
55 RFILRAE 3812R = 0.15 - Rk B
56 ZHE—LE 3A128 - 0.08 - Rk B
57 ZEFRAE 3A6H = 0.10 - rha +
58|l R3S AE 386H - 0.08 - =eF: 3 B
59| AR4EAE 3A6H = 0.09 - b g
oJi NeE=R/NES| 3A6H - 0.08 - Rk B
61 iRV <RIL LA 3A6R = 0.08 = bk B
I 62| FFDHAE 3848 - 0.12 - thf +
63 FHELE 3R48 - 0.09 = R d
. EEEERYERNE 3A7R - 0.06 - R B
23 65| i R25 N E 3A6H = 0.09 = Hhk B
% 66|7=1TD L5 3A4H - 0.08 - P +
+ IRETAN: 3B4H - 0.18 — i +
fé" 68|LOSELNE 3A48 - 0.07 - PR 3
69 EKERAE 3R48 — 0.07 - =e 3 B
= 70 KR AR 3R48 - 0.08 - =oF>3 =1
TERERAE 3A4R - 0.08 = ef 3 B
72| F/ Pk 3A48 - 0.22 - thk x
VEIE R AR =N 3A48 = 0.05 - R B
74| BAE#x i 3A48 - 0.15 - BAEL] av9—k
75 R F ¥E R AL kit 3A128 = 0.18 = BRI +
76 DK LEF2 B #kith 3A128 - 0.21 - R +
77| 2KLEF1 S#&ih 3H128 — 0.22 - rha B
18| XED L5 3R48 - 0.13 - =oF>3 B
79 EE LKL AR 38198 0.04 0.04 0.04 hR B
80| sei 5 AL A E 3A7R - 0.09 - thk =1
81 EIFE R RAE 38198 0.08 0.09 0.09 rhzh B
82 EIFERAE 3A10H - 0.07 - R #(2/14~1)
83 KEIFEAANE 38108 - 0.18 - R B
84 EIFEEAE 3A7H - 0.15 - tha =1
85 REAFLARE 3A1980 0.07 0.07 007 | SAESEER +
86 REEMAE 3A7H - 0.19 - R +
87 EARLE 3A3H - 0.19 - R B
88 RCALAE 3A3A - 0.17 - EEEMHE +
I 89| R2E5NE 3A3H - 0.07 - tha +
90 RASLNE 3638 - 0.07 - thik B/ 14~1)
R 91| ZHF/1ELE 3A4H - 0.07 - g B
x 92| 2HFR251E 3A4R - 0.08 - = =1
x 93X HAIELE 3848 - 0.08 - s B
5 I 3538 - 0.07 - e =
flz@ 95 XHASELNE 3R48 - 0.12 = R +
_ 96 ;2B RS LE 3A3A - 0.10 - R +
97| 2HRTELE 3A3H - 0.11 - rh +
98 FIUEHELE 3R78 - 0.16 - Rk t+
9| FLEABLE 3A7H - 0.07 - R +
100 FERTA A E 3A48 - 0.17 - tha B
101 EFIRE 3A48 = 0.11 = hR avyy—k
102| HEH N E 3A7H - 0.07 - Rk B
103 FrFERIAE 3A7H - 0.17 - R B
104 FrF152E 3A78 - 0.15 - R +
105| REBFSELE 3A7H = 0.06 - thf +
106 HEBLNE 3A7H - 0.10 - Rk +
107 | (fR) RE L E 3A3H - 0.22 - R B
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[BEI]u Sv/h
[AlE#ER] ) 7/ L AR &4 A2700

= Es MR A%z E A= BEISH | HREORE
e 1m 50cm 5cm
108| R1EAE 3A3H - 0.07 - R B
109| R3IEAE 3A3H = 0.04 = R +
110| R552E 3H3H - 0.12 - =2 I
11| R6SAE 3A3H - 0.11 - tha +
12| R7TEAE 3A3H - 0.11 - R B
113| R8EE 3A3AH - 0.08 = ef 3 B
14| RSN E 3A3A - 0.08 - eF 3 3
115 R10E2E 3A3A = 0.10 = P I A%
16| R11ELAE 3A3A - 0.11 - g I
17 /NEAE 3A3H - 0.07 - ohREal B
18| BEBRFERAAE 3A4R - 0.14 - AR ILA g%
I 19 BHILABLAR 3A4R - 0.14 - HERBHR x
120 B LNELAE 3A3H - 0.07 - o +
PR 21 A AR 3A4H - 0.07 - R ¥
Pl 122 ETE AR 3A48 - 0.17 - iR =3
B 123 = AE 3848 - 0.17 - s =1
124 HLESAE 3878 - 0.14 - gk +
i 125| REERLE 3A7H - 0.11 = R d
% 126 S EILFTRARE 3A48 - 0.11 - PR x
127 REBRFISAE 3A78 - 0.07 - th e =
128 REBRFI5L2E 3848 - 0.14 - g +*
129 RERF25LE 3A7H = 0.09 = R +
130| FWEILLE 3A78 - 0.20 - PR x
131 | B T AE 3878 - 0.15 - R B
132 FLERAE 3A7RH - 0.08 - g B
133 FrFROAE 3A78R - 0.09 = ef 3 B
134 #ER AR 3A7R - 0.15 - hf 3
135 EHEFTHRDH 3A7H - 0.15 SRAVE D)rs-1--F B
136 AR LAE 3A7H - 0.15 - | EE BB S5 R T
137 | FIE5 3A7H - 0.10 = hR A
138| S EIL K A Rk 3A4R - 0.12 - th +*
139 | hiIRERAS AR 3A1980 0.15 0.15 0.14 rhh +
140 b &P RAE 38198 0.13 0.14 0.12 g =
141 it &5 52 E 3A10R - 0.14 = ef 3 B
142t 6 51 E 3A10H - 0.18 - eF 3 3
143 it & 752 E 3H108 — 0.15 — rh g B
144 BHEBELE 3A108 - 0.14 - R )
145 EF FEL DU 5 38108 - 0.09 = b= N FAI7ILE
146 HF R SMHU A E 3A108 - 0.16 - =g T
147 |l SHIAE 3H108 = 0.17 = rh g T-Z4
148| A EYEZEL DBV 3A108 - 0.08 - R +
149 | HFIHR A E 3810R - 0.16 - B@EEAn T REE
150 FETMROH 3A7H - 0.13 - 1R TF OISR +
151 bt EEIDLE 3H108 — 0.12 - =e 3 B
152t 5452 3A108 - 0.13 - AR MR B
153 )it &2 5 N E 38108 - 0.10 = R d
154 it B35 LE 3A10H - 0.13 - hf 3
155t &1 5B 3H108 = 0.15 = rh g B
156 it 585 AH 3A108 - 0.16 - R )
157 sils — AEAE 3A10R - 0.12 = eF 3 B
158 | FlsFRTAE 3A10H - 0.16 - hf B
159 | RSt B E AN E 38108 - 0.15 - th e =
160| s RE #E 3A108 - 0.14 - R +
161 |i#L & #kith 38108 - 0.12 = R +
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[BEI]u Sv/h
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_ AEH _
&5 MEE% % RIEB BIESAT | HhEOIREE
Tm 50cm 5cm

162| FIIR )PS5 E 38198 0.12 0.13 0.12 g =
163 [R B LE 3A198 0.17 0.18 0.19 hR B
164 FEHARALXE 3A198 0.11 0.11 0.07 R B+
165 | FAZERT& 2B 38108 - 0.10 - RLEBdhR +
166 LD AE 3A1A - 0.14 - R B
167 FIABFAE 38118 - 0.11 = R +
168 | #7 A& 15~ B (B A8 I ki) 38118 - 0.12 - tha =1
169 DELDAE 3A11R - 0.16 - R B
170| FDOLE 3A1A - 0.16 - R )
1M FHFARRELNR 3A11R - 0.15 = ef 3 B
172 HAREBELE 3A10R - 0.11 - PR VS
173 HIARSALLAE 3H10R - 0.17 - R B
174 FHARDY DARAE 3A10H - 0.14 - thk =3
175 EF T DARLE 3A10R - 0.14 = ef 3 B
176 IAEZELE 38108 - 0.14 - thgr =]
177 FAKIRTAE 38118 - 0.14 - th e =1
178| A REHE 3A108 - 0.08 - R FRI7ILE
179 LA 2N E 3A11R - 0.16 = ef 3 B
180 | dLEH B AN B 3A11A - 0.11 - th +
181 IEith F &L DBV IS 38108 - 0.11 - th +
182 B D N E 3A118 - 0.17 - g +*
183 |1 /Hi PR kit 3A118 = 0.17 = R -2
184 |1 /#ifG b 3A11A - 0.16 - Rk B
185 | B/ F OB 3A198 0.13 0.13 0.13 thh B
186 | ftkma N E 3A19H0 0.16 0.18 0.20 o H
187| KRF 2 E 38118 - 0.14 = R +
188 FNEATAE 3A11A - 0.16 - thk B
189 | fiftk1 S E 38118 - 0.10 - th +
190 | kBRI N E 3A1AH - 0.12 - R )
191 &1 E5LE 3A11R - 0.12 = ef 3 B
192| iEMRDOFH 3A118 - 0.18 - EDLRBZHR k3
193 A5 A E 3A11R - 0.14 - R B
194 RTHELER 38118 - 0.07 - thde =1
195 = 3L EE 0 3A11R - 0.13 = ef 3 B
196 ETHRAR 3A11R - 0.14 - b B
197| REF A E 3A11H — 0.13 -|  #EEfhE +
198| FF&E25 N E 38118 - 0.12 - ISR (FTOR) )
199 FHE3IELE 3A11R - 0.15 = ef 3 B
200 FHE4ENE 3A11A - 0.13 - thk B
201 | FHIE 1SR 3A11H = 0.12 —| R (B A READ B
202\ Ttk B AR 3A118 - 0.08 - i +
203| LRI AR 38118 - 0.13 - R +
204| FESETFELDHUE 3A1A - 0.07 - HEfMHE o
205| f{E2 S A E 3A11R - 0.12 - = +
206 | #2 S5~ E 3A1A - 0.07 - R B
207 i BB NE 3A11R - 0.12 = ef 3 B
208 ek RELE 3A118 - 0.08 - PR x
209 ik EET T AR 3A11H = 0.10 - =o 3 B
210 fEEM 1S 0E 3A118 - 0.12 - =oF>3 B
211 | Rt FE R ih 3A11R - 0.13 = A B
212 | [RHh R #xith 3A118 - 0.14 - =5 B
213 | KiFfxih 3A11H = 0.12 - ABfhE B
214\ B E Firfxih 3A118 - 0.10 -l ABfhE +
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X4
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_ BES )
= MEE% % RIEB BIESAT | HhEOIREE
Tm 50cm 5cm

1 ERWREERE (AEYDIRE) 68168 0.12 0.13 0.15 o B2

2 AARME RS (RR—YEE) 6A16H 0.09 0.11 0.1 eE S +

3| BT HAERHKIS 68168 0.07 0.07 0.06 |ABEAURA—R{HE +

4 BRI E TG 68168 0.10 0.13 0.10 tha B.E

5 I ARE D E KIS 6A16H 0.08 0.06 0.04 | £AVER—R{H5E +

6| AnHLF v TG 6A16H 0.12 0.15 0.15 eF 3 Ay 2

7| 1Bt S ErBkim 68168 0.09 0.09 0.11 | AV EA—R{H5k +

8| LT % BRHERILE (Li5) 68168 0.11 0.12 0.12 tha B.E

9| %{E T % BHEBIAIS (B85 KA 6A16H 0.09 0.11 0.08 B H.Z

10| T RAAH 8 (=BEAD 6A16H 0.11 0.10 0.10 BAES L] A28—0yHLY
| TRAFE (Fakis) 68168 0.09 0.09 0.10 | £AVEA—R{t5k +

122 RAFE(T=X3—~) 64168 0.10 0.11 0.11 AOfE BAALZ
13| FIIR NS0 SN E (BFERI5) 6A16H 0.11 0.12 0.12 R 2
14|FRINP S S 2B (Yyh—i5) 6A16H 0.11 0.12 0.12 xR Ay 2

15 |FIRIID S5 AE (A 7O—F B#EEI—X) 68168 0.13 0.14 0.15 ef 3 B2

16|i#dL & R R E (Frikis) 64168 0.06 0.05 0.06 |EhURR—R{FiE +

17[i#de & P RABE(GT=Xa—F) 6A168 0.05 0.05 0.06 i +

18| FEBAR(T=X3—F) 6A16H 0.13 0.15 0.17 AQffE o

19| 2L E £ B REBEN 15 G2 EDRE) 68168 0.19 0.25 0.26 thsk B2
20| <LE % B #EB LG (XRAR—Ya—k) 6H16H 0.19 0.26 0.32 thh AR—ya—FK
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